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SECTION - A: FORMING NUMBERS (10 Marks)

1.Arrange the following numbers in ascending order: 563, 431, 789, 672 (1 mark)

Answer:

2. Form the greatest and smallest 3-digit numbers using the digits 3, 7,9. (1 mark)
Greatest:

Smallest:

3. Fill in the missing digits to make the addition correct. (2 marks)
3+48=91
2 +35=80

Answer:

4. Add the numbers and write the number in words. (2 marks)
438 + 476 =

In words:

5. What is the estimated sum of 185 and 125? Round off both to the nearest hundred before
adding. (2 marks)
Answer:

6. Estimate and then find the difference: 438 — 215 (2 marks)

Estimated:
Exact:




SECTION - B: UNDERSTANDING THE CONCEPT (10 Marks)

7. Write the relationship:

a) 1 metre = cm
b) 1/2 metre = cm
c) 1/4 metre = cm

8. Tick the correct unit to measure:
a) Length of a classroom: ( )mm( )cm( )m
b) Height of a bottle: ( ymm( )cm(  )m
c) Length of a pencil: ( ymm( )cm( )m

9. Match the following:
a) Breadth of blackboard — 1) more than 1 m
b) Length of eraser — i) less than 1 cm

10. Fill in the blanks:
a)bm= cm
b) 120 cm = m cm

SECTION - C: ABILITY TO COMPUTE (10 Marks)

11. Solve:
a) 654 + 95 =
C) 764 — 657 =
d) 518 — 209 =

12. Draw three different shapes with a perimeter of 20 cm.

(3 marks)

(3 marks)

(2 marks)

(2 marks)

(3 marks)

(3marks)



13. Subtract: (2 marks)

a) 842 — 387 =
b) 600 — 384 =

14. Find two numbers such that: (2 marks)
a) Sum = 856: +

b) Difference = 563: —

SECTION - D: PROBLEM SOLVING (10 Marks)

15. Rami read Panchatantra Tales (236 pages). Kesu read Akbar Birbal (96 pages), Karadi
Tales (30 pages), and Blue Umbrella (90 pages). Who read more pages? By how many?
(2 marks)

Answer:

16. Daisy and Lou had X185. Their mother gave them X125 more. How much money did
they have in total? (2 marks)

Answer:

17. Preeti’s school has 423 children. Her cousin’s school has 178 more children. How many
students are in her cousin’s school? (2 marks)
Answer:




18. The length of a board is 2 metres. A sticker is 20 cm long. How many stickers are needed
to cover the board? (1 marks)

Answer:

19. Krishna buys 2 oranges at 321 each and pays with 50. What is the balance? (1 marks)
Answer:

20. Measure each object using the scale. (2marks)

)
3
)
3
)
3
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